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Building Standards in Educational and Professional Testing

SAMPLE PAPER 
APPLICATION ADMINISTRATOR JD

VERBAL
Complete the sentences by choosing the most appropriate option, from the given lettered choices (A to D) below each.

1. Sara _________ the smell of gas in the kitchen.

A. developed

B. saw

C. determined

D. detected

2. Sunspots are known to cause ______ enormous increase in the intensity of the sun’s electromagnetic radiation.

A. an

B. a

C. some

D. one

3. The consumer price index lists _____ 

A. how a much cost every scooter

B. how much does every car cost

C. how much every car costs

D. how much are every car cost

Five lettered pairs (A toD) follow a related pair of words given in capitals. Select the lettered pair that best expresses a relationship similar to that expressed in the original pair in capitals. 

4. REFURBISH: WORN:: 

A. revive: exhausted 

B. reward: outstanding 

C. resume: interrupted 

D. replace: stolen 

5. PURIFY: IMPERFECTION::

A. align: adjustment

B. weary: boredom

C. disagree: controversy

D. verify: doubtfulness

Choose the lettered word or phrase that is most nearly opposite in meaning to the word in capital letters.

6. ABOLISH:

A. exterminate

B. cancel

C. continue

D. hide

7. FINISH:

A. initiate

B. close

C. shape

D. perfect

Questions 8-10 are based on the following passage.

The supervisor would have to change his attitude towards people first. The staff under him must be perceived as human beings with feelings and needs. They are not autonomous within a complex work machinery. One of the greatest needs of today's worker is to have a feeling that he is in control of his workplace and not vice versa. The best way is to satisfy this need as far as possible. He must feel firstly, that his work is meaningful. To do this the supervisor must delegate responsibility and give limited authority for the man to execute his job well. The subordinate must be properly trained to assume responsibility and authority. Once he is ready to assume these he can be made accountable for his job. Very often supervisors assume all responsibility and accountability for fear of losing control of the workplace. This makes workers under him pawns in a vast chess-board. Delegating accountability gives the worker a purpose in life and the need to do a job well. Most important is to sit with each worker and chalk out common objectives and agreed norms to achieve them. This gives workers a security as to what is expected of them. When he has met his objectives he certainly has a feeling of achievement. This feeling of achievement is the greatest motivator.

8. Responsibility and accountability make a worker

A. tense and frightened

B. shirk his duties

C. vulnerable before his supervisor

D. do his job properly

9. Supervisors do not delegate responsibility and authority to their subordinates because

A. final responsibility is theirs

B. subordinates are not capable enough

C. they can't trust their subordinates

D. they are apprehensive of losing their hold on the work place

10. Orientation of subordinates with common objectives and how to achieve them is

A. a must

B. not very important

C. not necessary at all

D. optional

ANALYTICAL REASONING

Now Sony Electronics brings tomorrow's tech​nology to today's home stereo. The same space-age circuitry used by the Wanderer spacecraft to send images of the most distant planets back to earth has been incorporated in the new Sony X-2700 stereo system. If your home entertainment is important to you, why settle for an old-fashioned stereo system when the Sony X-2700 is priced at only a few rupees more?

11.   The most serious logical weakness of this argument is its failure to

A. provide technical data on the manufacturing specifications of the Sony X-2700

B. show the relevance of space-age circuitry to the requirements of home stereo

C. specify the exact price difference between the Sony X-2700 and old-fashioned stereo systems

D. acknowledge the contributions of scientists in the space program to the development of the advanced circuitry mentioned

According to Albert Einstein's famous theory of relativity, time travel is theoretically possible. Assuming that time travel were to be made possible through some technological breakthrough, it would be advantageous to send someone back in time to prevent the assassination of Archduke Franz Ferdinand in 1914 and thus keep World War I from ever occurring.

12.   The argument above makes which of the following assumptions?

A. It is not possible to alter a significant current in world history merely by changing a single event

B. The technology necessary for time travel is likely to be developed in the near future

C. If Franz Ferdinand had not been assassinated, some other catalytic event would have led to the start of World War I

D. The assassination of Franz Ferdinand was the crucial event that triggered the start of Word War I

PTCL, Wateen and Instaphone are the Telecommunication sales companies of Pakistan. And Qadeer, Rafi, Saliq and Turaab are sales executives that work for these companies. Each sales executive works for at least one of the Telecommunication sales companies.

Qadeer always works for PTCL and at least one of the other companies.

Some of the time Wateen employs only one of these sales executives; the rest of the time it employs exactly two of them.

PTCL and Instaphone each employ exactly two of these sales executives all the time.

13. If Rafi works for Instaphone only and if Saliq works for Wateen and Instaphone only, Turaab works for:

A. PTCL only

B. Wateen only

C. Instaphone only

D. both PTCL and Wateen

14. If Qadeer and Rafi both work for the same two Telecommunication sales companies, Turaab must work for:

A. both PTCL and Wateen

B. both PTCL and Instaphone

C. either PTCL or Wateen but not both

D. Wateen only

SUBJECT
15. Which of the following clauses allow user to update delete the record that was last fetched by the cursor?

A. WHERE CURRENT OF

B. INTO

C. DISTINCT

D. FOR UPDATE

16. Which of the following stored programs of Oracle is used to compute a value and return a value to a calling environment?

A. Procedure

B. Function

C. Package

D. ZTrigger

17. Which of the following correctly represents floating point literal?

A. 5.74

B. 5.74F

C. F5.74

D. 5.F74

18. You work as a database administrator at company.com. You are responsible for administering the sql server 2008 infrastructure for company.com. During routine monitoring you discover that the instance experiences a low number of cxpacket waits as well as a large number of lazy writer waits. To ensure productivity you need to make sure that the performance of the instance is optimized. What should you do?

A. You should consider configuring the windows system resource manager

B. You should consider configuring an increase in the maximum degree of parallelism option

C. You should consider configuring the resource governor

D. You should consider configuring the software non-uniform memory access (soft-numa)

19. The specific number of entity occurrences associated with one occurrence of the related entity is called:

A. relationship

B. connectivity

C. cardinality

D. existence dependency

20. Which one of the following is generally focused in service transitions?
A. Configuration management

B. Event management


C. Security management

D. Availability management

21. Instead of focusing on development, IT service management focuses on:

A. IT definitions 

B. IT operations 

C. IT convergence 

D. IT virtualization

22. Version of ITIL, that evolves to service life cycle view is:
A. Version 4

B. Version 3

C. Version 2

D. Version 1

23. Which one of the following is generally NOT focused during service design?

A. Release management

B. Availability management

C. Capacity management

D. Continuity management

 ANSWER KEY 
	Q #.
	Right Choice

	1
	D

	2
	A

	3
	C

	4
	A

	5
	D

	6
	C

	7
	A

	8
	D

	9
	D

	10
	A

	11
	B

	12
	D

	13
	A

	14
	D

	15
	A

	16
	B

	17
	B

	18
	D

	19
	C

	20
	A

	21
	B

	22
	B

	23
	A
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